
Lines 
Maria paid $188 for some jeans and t -sh ir ts .  A pair of jeans 
costs $26, and a t -sh ir t was $16 cheaper than a pair of jeans . 
If Maria bought 3 pairs of jeans, how many t -sh ir ts d id she 
buy? Expla in .   
 
Angles 
Amy has 72 p ieces of candy in a bag . She keeps ¼ of them 
for herself ,  but shares the remainder between 6 of her 
fr iends . How many candies wi l l  she give to each of her 
fr iends? 
 
Polygons  
El l is borrowed $78 from his s is ter to buy a frame. If El l is pays 
off $5 of the debt each week, how many weeks wi l l  i t  take him 
to pay off the ent ire debt? 


